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WR%234E9 H 1 H BIfE L S 5 L8 & &
FIRTHA R 79,131 93,015 97,547 190,562
NHUE— T H 27 28 36 64
IS Hit Al ACHT 61 59 56 115
N Hibt A T 44 55 60 115
N HitERE K 169 198 211 409
INHiERAS BT 599 563 690 1,253
N HERAL /BT 38 38 50 88
S R I 130 136 142 278
N HuEE T 1,068 1,077 1,245 2,322
KIETR A5 135 154 174 328
AT PN A 657 697 792 1,489
AR AR 1L 1,400 1,679 1,850 3,529
NN 116 105 121 226
N ST 66 57 79 136
AR 4B 5L 208 221 233 454
AN AL S 50 60 48 108
N EE 374 451 445 896
AL LA 296 329 353 682
NN S 692 842 886 1,728
A IEH 367 396 392 788
N 292 310 325 635
ARG 174 239 246 485
I RS 487 526 599 1,125
AN V5 TR 945 1,201 1,283 2,484
A% vE 413 400 481 881
AR 1L 183 224 253 477
NI AE S 95 122 129 251
AT B 275 323 347 670
N 333 419 432 851
ARV 1,781 2,590 2,617 5,207
N NS 1 2 0 2
A 1 451 507 549 1,056
AR e i 299 345 378 723
AR B R 34 37 51 88
AN R (L 1,934 2,611 2,627 5,238
R P 1L 432 554 569 1,123
ARG 12,490 15,401 16,259 31,660
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R%234E9 H 1 H BIfE LA % a5 &
FEeE—TH 160 220 242 462
VEHETH 188 267 302 569
YREE=TH 157 231 235 466
FREMT H 139 191 195 386
FEEAR 644 909 974 1,883
T E— & 170 232 247 479
HAaE— B 267 367 371 738
R ERS 100 137 137 274
T AR 229 260 276 536
FE R 372 478 498 976
T FERIVKE 5 13 11 24
R R R AR 89 141 110 251
T TR 422 474 515 989
hE LS 26 36 33 69
f R E A HE 192 229 129 358
HEAE 260 317 324 641
R ENE 4 5 8 13
T =& 328 279 350 629
TTEZ R 344 399 425 824
7 R B 341 369 349 718
Ei/gs = i 28 38 37 75
R R4 20 16 20 36
TR R 27 31 37 68
R SR RGE 183 233 233 466
HTEF N 343 466 489 955
R E EH 196 235 256 491
T/ FEVE TR 259 260 305 565
T/ P 135 157 165 322
FAEVE) 395 482 515 997
T RS 219 247 236 483
T 488 561 559 1,120
T H AR H 299 368 402 770
T EEER 83 104 95 199
F A7 FE TR A 505 671 667 1,338
hERE A 522 558 650 1,208
A 50 76 83 159
fo e A EIE A H 9 12 10 22
hIEE 6,910 8,251 8,542 16,793
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R%234E9 H 1 H BIfE LA % a5 &
RN 138 144 170 314
BT L 69 78 88 166
HE KIEN 158 170 198 368
HERA 9 17 18 35
B 38 ] 43 83 44 80 124
B IE B 50 73 69 142
BT 28 32 30 62
B L 595 650 705 1,355
B ] 0 0 0 0
FIE AR 1 1 0 1
S 38 H 251 265 293 558
B 1 63 72 76 148
HIEAR TV 578 726 765 1,491
HIER/ 11 8 10 18
HHIE 1 191 220 246 466
B 1E TR 70 69 93 162
IE P 61 67 65 132
SIEPEEE D 76 107 100 207
BB H 34 45 50 95
I HIE N 4 7 8 15
SIE R 1D 206 246 266 512
BB ERT 174 296 285 581
BB AL L 207 228 245 473
SaIE D 65 105 87 192
BB 120 130 147 277
] 150 177 178 355
ERER E 318 393 414 807
B 3E L 23 23 26 49
BT /R 112 134 152 286
HE T 3,845 4,527 4,864 9,391
FEL—TH 106 136 143 279
PIAEL=TH 217 271 293 564
PEIL=TH 274 367 373 740
P T A 43 50 57 107
P LET 640 824 866 1,690
e 911 Blete) 26 31 32 63
AHHNE DL 1 2 1 3
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AR PG L 1 1 0 1
AR VEAH 32 39 37 76
AR R 25 24 31 55
TR 1 GG 12 12 10 22
AR FERE 28 29 38 67
e INIIEa 0 0 0 0
AR IET 125 138 149 287
R L A 1 1 1 2
ER LR 7Y 7 12 13 25
BRI/ ot 7 8 5 13
FR AR L 12 14 12 26
BRI A 12 24 13 37
R 1L/ Tt 12 21 18 39
R L EA 0 0 0 0
ERILIPE 4% 20 30 29 59
I IVNGE| 29 37 25 62
ER LU T 6 9 9 18
Uk =2 17 28 17 45
R IGET 123 184 142 326
—REFI 0 0 0 0
R 2 2 0 2
CRRERTS 2 1 1 2
“REBR 2 2 4 6
RIS 1 0 1 1
CRMRIRE 0 0 0 0
CRVEMT 4 6 6 12
CRHGHET 6 7 9 16
— BT 17 18 21 39
AR 1 1 0 1
LR PEAE 1 2 3 5
VYR i 1 0 1 1
2 FE A 2 2 1 3
B ET 5 5 5 10
HROAT R H 2 1 2 3
RO B 2 0 2 2
SRAF R H 1 1 1 2
UG U 3 4 4 8
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AU ) 0 0 0 0
WG Ay ) 5 6 4 10
WG 3 5 4 9
A B A 1 2 1 3
UGB H 7 11 9 20
WG U AT 5 3 3 6
WG 29 33 30 63
PE AU H TR 2 2 1 3
PaAEHGFE A 1 PE 5 7 16
Va5 R YK 0 0 0
P A UR 8 10 11 21
V8 A% HCR 3 3
P AR 3R 0 0 0
PEARIC R g 37 19 36 55
P AG B H 3R 9 10 7 17
[N CananplINic] 4 2 7 9
Pa AT 1 1 2 3
PEARIR S [ 1 1 0 1
PR A 2 2 3 5
Pa A BT 72 57 79 136
B ERT—T B 157 191 208 399
BHERT T H 390 475 473 948
FHERT =T H 267 329 362 691
HAEHBTIU T H 111 210 188 398
HEP=Yiiiy 925 1,205 1,231 2,436
Fiath AR 238 286 316 602
FIREE 318 326 365 691
FIRF LF 229 183 181 364
FIRERE 397 490 527 1,017
FIRTT 106 86 108 194
FIREE L 864 1,081 1,151 2,232
FIRe 4 6 8 14
FIRALA 3 5 4 9
FIREE 174 205 213 418
FIE AR 226 310 331 641
FIR/I 24 22 23 45
EREE 514 453 411 864
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R%234E9 H 1 H BIfE i 5 128 a5 &
FIE & 285 312 359 671
FIRIEH 320 425 429 854
FIREE 212 251 257 508
EREPN i 68 99 111 210
FIRF /N 217 250 286 536
FIE) 130 86 145 231
FIaRXE 190 197 233 430
SR LI T 597 723 742 1,465
EREE =] 1,284 1,649 1,699 3,348
SRELLV 6 8 11 19
FIREEE 384 490 527 1,017
FIRHEN 144 163 182 345
FIR L 90 102 136 238
Fa Xz 98 98 110 208
ERELS 734 712 859 1,571
EREN 680 842 825 1,667
FYE L H 17 12 24 36
FIR LA 100 100 111 211
TR I 152 163 200 363
ERIEEAT U 330 357 355 712
FIE AR 0 0 0 0
FI67 9,135 10,492 11,239 21,731
HEEAR—TH 184 251 267 518
EEHA . TH 189 216 281 497
EEAR—-TH 205 261 268 529
HEGR 578 728 816 1,544
fiEe—TH 189 245 252 497
riEs —TH 131 162 173 335
rEa=TH 185 240 262 502
rEaMNTH 225 274 314 588
PriEast 730 921 1,001 1,922
Kipa—TH 116 138 138 276
K TH 104 144 139 283
Kipa=TH 134 174 183 357
KRR 354 456 460 916
E T 1 3 2 5
1) 1A 7 8 7 15
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R%234E9 H 1 H BIfE LA % a5 &
EPIINSIES 69 93 88 181
BT 13 15 18 33
HJIF 0 0 0 0 0
=M 2 2 1 3
SRl 359 145 290 435
HIR L 150 73 77 150
HI'E /1% 6 12 11 23
EPIN=45i] 1 1 1 2
H K& L 3 3 0 3
SPATIER:N 13 16 16 32
FEREE L 3 0 3 3
B)IEH 627 371 514 885
FHEA = R 599 699 784 1,483
PR 264 270 321 591
B E AL 752 916 948 1,864
A 958 1,191 1,294 2,485
R 2,573 3,076 3,347 6,423
P10y 728 831 802 1,633
PHarit 728 831 802 1,633
mREIT— T H 353 408 458 866
FRERT — T H 235 264 284 548
BRI =T B 82 94 101 195
FIBERTIU T H 112 134 137 271
BT H T B 131 140 153 293
P PEHT F 913 1,040 1,133 2,173
TR S T — /b 451 575 559 1,134
R S BT A 80 101 87 188
HiE S W —HT 36 70 56 126
R I T o 374 487 475 962
A S HT ICHT 48 50 43 93
HE Jo BT R i 82 112 110 222
N 9 6 9 15
R S5 T 167 192 206 398
HE ST %5 1,022 1,197 1,143 2,340
FE S HT AL 198 233 217 450
FE 55T . F H 17 25 11 36
R S TR 82 37 73 110
FEEHT =+ 84 96 95 191
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R%234E9 H 1 H BIfE LA % L8 a5 &
R S5 T I AT 10 12 13 25
TR S T+ — 109 128 101 229
HE S HT 05 63 69 64 133
AT SN 17 15 6 21
R S HTTE 7K 97 147 152 299
R o T T 107 124 100 224
HiR S T 4 52 79 69 148
TR S T H 4K 294 361 385 746
R S T H 217 253 262 515
HiE J55 T P SR 0 0 0 0
HE 50T — -1 5 6 6 12
iR 5 T B 28 26 41 67
R S5 HT R I 281 296 355 651
R =5 T O 931 1,092 1,079 2,171
S HT 213 172 145 317
HE ST A B 1,269 1,518 1,411 2,929
R S TR A 31 33 36 69
= A SRl 0 0 0 0
R ST E 6,374 7,512 7,309 14,821
INERTEE R 306 260 240 500
/N T B 35 37 51 88
/N BT 198 189 209 398
AN =L EIER S 356 380 371 751
AN =LIWNES 179 212 231 443
/BT 149 169 183 352
NEETSEN 268 288 291 579
NERTRE 305 306 320 626
/N T R 211 239 253 492
AN NEN 845 865 957 1,822
7N T e A 135 153 159 312
/BT L 610 723 758 1,481
71N BT SEE 939 1,114 1,196 2,310
/NERT L 380 500 503 1,003
AN =R 693 841 907 1,748
/INEHT R 1,273 1,360 1,476 2,836
7N T T U 1,319 1,427 1,510 2,937
N T (LB 690 770 763 1,533
/AR EE 8,891 9,833 10,378 20,211
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R%234E9 H 1 H BIfE LA % L8 =
(e T H 381 446 421
{FEAHETY b 218 269 268
SN BTV 1 215 269 288
BT RA 817 990 1,065
(&5 T % H 118 148 153
e Tk L 279 303 340
(L T ERE 376 414 469
FEAHRTH /5 132 151 146
(FHEL TR H 874 1,125 1,177
(BT R 156 221 250
{5 FH T A 3 15 23 22
FEA T | 318 431 429
(FHEN T (L 578 628 696
{2 HH T R 3l 518 611 626
(&5 TR (L) 391 562 523
P55 T 3 550 644 713
(FHEL T AR 308 384 359
FEAmBTA ARA—T H 364 431 448
FHEAEITA AR T H 237 279 279
FEAHET A AR =T H 63 66 84
FHEAHETE] 6,908 8,395 8,756
2 H BT e 0 0 0
EQELIDN = 88 108 104
ZH T EF 88 108 104
BRHT 976 1,233 1,242
BRET 976 1,233 1,242
JR BT — B (L 391 444 489
JISEPHT /N 2 844 1,041 1,056
INSSIPNE 710 1,007 1,046
J< B T A A A 525 614 684
NP D 288 339 363
NP o 105 98 89
Jis BT <F L 911 1,072 1,196
NS RN 1,092 1,567 1,628
NSl 319 408 411
JI B T % 88 134 132
J< B HT P 2 366 308 286
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WRk234E9 A 1 H BAE L S 5 128 =
Ji< B HT BRZE 547 624 688
J< B T R = $E A 477 438 39
Jis BT L 516 606 618
NSNS 788 971 1,046
UNSEE 7,967 9,671 9,771
SFlle—TH 95 148 158
FILHEZTH 127 186 199
FILBE=TH 125 167 177
ZFILBE 347 501 534
KACRHET HAR 513 507 593
KRALRHT H/ F, 169 177 178
RINRBT KA 274 296 305
RIGRHET | /1L 418 428 426
RAGRETIE 7 1L 209 232 223
RINRET AR 276 282 292
NS 76 91 91
RINEGRET IS /Y 0 0 0
RINERET RS 597 671 669
KALRATREG /1 375 397 422
KALRET LN 263 287 337
RAPRIT BAR O 5 2 58) 1,364 1,314 1,588
RIERITSE3% ) 515 536 610
UNCSIED 5,049 5,218 5,734




